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QUESTION 1

Which of the following statements describing the instantiation of a VM in OpenStack is CORRECT?
A. Instantiation of a VM is always initiated through the Horizon GUI.

B. The Neutron L3 agent uses libvirt on the hypervisor to instantiate and tear down VMs.

C. A Radius server is used to verify whether a user has the required privileges to instantiate a VM.
D. The Nova scheduler selects the host on which the VM is to be instantiated.

Correct Answer: B

QUESTION 2

Which of the following statements about CMG VNF scaling is TRUE?

A. OAM-VM can be scaled out in steps of a single VM for CMG LB mode deployment

B. LB-VM can be scaled out is steps of a single VM for CMG LB-less mode deployment

C. MG-VM can be scaled out is steps of an MG-VM pair for CMG LB mode deployment

D. LB-VM and MG-VM must be scaled simultaneously to achieve a successful CMG deployment

Correct Answer: D

QUESTION 3

Which of the following is a function of CMG LB-VM?
A. Generates periodic KPI/KCI XML reports

B. Terminates external control plane logical interfaces
C. Performs policy and charging enforcement function
D. Provides management interfaces to NSP

Correct Answer: C

QUESTION 4
Which of the following is a function of an SPS Diameter IOH VM?
A. Provides logs and alarms to management

B. Terminates signaling connections to the network
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C. Terminates HTTP and LDAP connections
D. Manages configuration of other VMs in the VNF

Correct Answer: B

QUESTION 5

Which of the following statements regarding the CMM OAM network is FALSE?
A. It is used for CMM management.

B. Itis connected to NECC VMs.

C. Itis connected to CPPS VMs.

D. It requires a customer provided subnet address.

Correct Answer: B

QUESTION 6

Which of the following describes the 2N model for VM redundancy?

A. There is one active VM and one standby VM that takes over if the active VM fails.

B. Thera are N active VMs and a pool of standby VMs that can take over if one or more active VMs fail.
C. There are N active VMs, each one paired with a standby VM that takes over if its active VM fails.

D. There are 2N active VMs deployed to support a service that needs N active VMs, with extra capacity in case one or
more VMs fail.

Correct Answer: C

QUESTION 7

Based on the exhibit output, which of the following statements is TRUE?
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=A:CMG2-Podl# show vm-function

VM Function Summary

VM Id Provisioned Type Admin Operational
Id Equiped Type (if different) State State
1 1 m20-v up up
2 isa-ip-reas-v up up
isa-ms-v
3 1 isa-mg-v up up
isa-ms-v
2 (not provisioned) up unprovisioned
isa-ms-v

A. This CMG has one LB VM and one MG VM.
B. This CMG has one LB VM and two MG VMs.
C. This CMG has two LB VM and one MG VM.
D. This CMG has two LB VM and two MG VMs.

Correct Answer: A

QUESTION 8

Which of the following statements regarding CMM internal network is FALSE?
A. Itis a layer 2 network.

B. Itis connected to all CMM VMs.

C. It is used for communication between CMM VMs.

D. It requires a customer provided subnet address.

Correct Answer: D

QUESTION 9
Which of the following is NOT a component of the CMM virtual network function?
A. Load Balancer (LB)

B. Packet Processing Service (PAPS)
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C. Network Element Cluster Controller (NECC)
D. Database Service (DBS)

Correct Answer: A

QUESTION 10

Which of the following statements about the data switch fabric (DSF) network in CMG is TRUE?
A. Itis a VNF external Layer 3 network

B. It must be VirtlO based

C. It carries signaling messages between MG-VMs and LB-VMs in LB mode

D. It carries data plane traffic between MG-VMs and LB-VMs in LB-less mode

Correct Answer: C
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